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1.000 1.000 1.000
0100 } 0100 } 0100
0010 | 0010 | 0010
0.001 0.001 0.001
, min , min , min
16 SPAC 1 3 -
SPAC 1 mg/L SPAC 2
mg/L SPAC 3 mg/L 6007700 ug-Cl,/L
70 pg-ClL,/L 6007700 ug-Cl,/L
70 pg-CL,/L A: 1 B: 1 +2
C: 1 +2 +
1000 OAAR-A=R-—==0 1.000
0100 0.100
0010 0010
0.001 . 0.001
0 10 20 30
, min , min
17 SPAC 1 18 SPAC 1
SPAC 1 mg/L
SPAC 2 mg/L SPAC 3 mg/L D50=18. 92 pm 4,93 um 1.27
600~700 pm 0.62 um 0.18 pm
ug-CL/L : 70 600~1000 pg-Cl,/L
ug-Cl,/L 3.9~4.5
6007700 pg-Cl,/L mg-Cl,/L

70 pg-Cl,/L
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oOwnZAon

IEP
pHpzc

0.04
0.03
0.34

0.02
0.29

0.10
0.03

0.10
0.04
0.00
0.09

0.12
0.00
0.07
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TET TET
mg/L mg/L mg/L
59 3.9 2.0
5.8 4.0 1.8
5.7 3.9 1.8
BAC 3.9 25 14
BAC 5.2 3.7 15
13
BAC BAC
12 12 12 7.6 11
2.0 1.8 1.8 1.4 1.5




